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QUESTION NO: 1

You are using Broadcom BES-53248 switches for a cluster interconnect in a base configuration.

In this scenario, what is the minimum number of ISLs supported between the switches?

A. 1

B. 2

C. 3

D. 4

ANSWER: B 

Explanation:

Reference: https://docs.netapp.com/us-en/ontap-systems-switches/pdfs/sidebar/BES_53248_Switches.pdf (3)

QUESTION NO: 2

You are preparing for the installation of a new 2-node switchless AFF A250 ONTAP 9.8 cluster and need to obtain the 
preinstallation information from the customer.

In this scenario, what are three examples of data required from the customer? (Choose three.)

A. management IP addresses

B. cluster switch name

C. gateway IP address

D. BMC IP addresses

E. cluster name

ANSWER: A B D 

Explanation:

Reference: https://docs.netapp.com/us-en/ontap-systems/a250/install-detailed-guide.html#step-1-prepare-for-installation

QUESTION NO: 3

After moving a new AFF A400 cluster into production, the administrator notices error events in ONTAP System Manager 
regarding SAS HA issues.
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In this scenario, which NetApp tool would have identified these errors after the installation process?

A. Cloud Manager

B. ONTAP System Manager

C. Active IQ Config Advisor

D. Active IQ Unified Manager

ANSWER: B 

Explanation:

Reference: https://www.netapp.com/fr/media/13482-tr4375.pdf

QUESTION NO: 4

You have added two new AFF A250 nodes to an existing 4-node cluster with NetApp CN1610 cluster network switches. 
Although the nodes can join the cluster, the storage failover show command output shows that the NVRAM log is not 
synchronized, and it cannot reach the partner over an HA interconnect.

In this scenario, which two statements are true? (Choose two.)

A. The AFF A250 requires switches with 40GbE port support.

B. The AFF A250 uses different ports for the cluster and the HA interconnect.

C. The AFF A250 requires switches with 25GbE port support.

D. The AFF A250 uses the same port for the cluster and the HA interconnect.

ANSWER: B C 

QUESTION NO: 5

Which logical interface has a fixed firewall policy?

A. data LIF

B. cluster management LIF

C. cluster LIF

D. intercluster LIF

ANSWER: C 

Explanation:
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Reference: https://docs.netapp.com/us-en/ontap/networking/configure_firewall_policies_for_lifs.html#create-a-firewall-policy-
and-assigning-it-to-a-lif

QUESTION NO: 6

You have completed a base installation and system registration of an AFF A250 system, but you notice that you have one 
failed drive. Neither “un-failing” nor reseating the drive helped to repair it. You must ensure proper replacement of the failed 
drive.

In this scenario, which two actions should you take? (Choose two.)

A. Ask the customer to open a technical case with NetApp Support.

B. Ask the customer for a drive with the same capacity and replace it.

C. Run Active IQ Config Advisor to collect all the logs on the system.

D. Power off the system until the drive has been replaced.

ANSWER: B C 

Explanation:

Reference: https://docs.netapp.com/us-en/ontap-systems/a250/install-detailed-guide.html#step-1-prepare-for-installation

QUESTION NO: 7

You completed a 2-node AFF A700 installation according to the poster. You run the disk show -fields owner command and 
notice that all drives are assigned to node 1.

In this scenario, which tool would you use to access documentation and guidelines to solve the issue?

A. Active IQ Unified Manager

B. Active IQ One Collect

C. NET2

D. NetAppDocs

ANSWER: D 

Explanation:

Reference: https://github.com/NetAppDocs

QUESTION NO: 8

You installed two separate clusters in an isolated data center without outbound network access. The customer wants to 
troubleshoot issues locally and also create custom Excel reports for capacity utilization from a local server.
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In this scenario, which NetApp tool would satisfy this requirement?

A. Active IQ Digital Advisor

B. Active IQ Unified Manager

C. Cloud Insights

D. ONTAP System Manager

ANSWER: B 

Explanation:

Reference: https://www.netapp.com/media/17229-tr4015.pdf

QUESTION NO: 9

You want to use the NetAppDocs tool to collect information on a newly configured ONTAP 9.8 cluster and to generate a 
Word document with the details of the cluster configuration.

Which two data sources would you use to collect the necessary data? (Choose two.)

A. Active IQ Digital Advisor

B. Active IQ Unified Manager

C. ONTAP Cluster

D. AutoSupport packages

ANSWER: B C 

QUESTION NO: 10

Which two statements are true about the LIFs that are used for a cluster peer relationship? (Choose two.)

A. The MTU size must be set to 9000 bytes on all the LIFs used for the cluster peering.

B. The LIFs must use the default intercluster service policy.

C. The LIFs must be in dedicated broadcast domains an IPspaces.

D. At least one LIF per node is required on each cluster.

ANSWER: B C 
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